Spare parts list for after market.

SHIMANO®

FD-MC18-s

SHIMANO ALIVIO Top Swing Front Derailleur

For Top-Route

ITEM

SHIMANO

QTY | 'NnO. CODE NO. DESCRIPTION
1 | Y-59L 19100 | Clamp Bolt (M5 x 17.5)
2 Y-5D1 98040 Stroke Adjust Screws (M4 x 12) & Plate
3 Y-5D1 98030 Cable Fixing Bolt Unit (M5 x 9.8)
Y-5D2 98010 Cable Fixing Bolt Unit (M5 x 9.8) for Top-Route

IL/FD Printed in Japan 0006-1965



